
Parts Breakdown UC120D

Page 1 of 2 8/18/2010



Parts Breakdown UC120D

Fig # Part ID Part Name Quantity

Products with multiple versions are listed in subsiding order with the newest version on top not indented

 1 265995-6 TAPPING SCREW 4X18, 4323K  9
 2 416308-6 LOCK OFF BUTTON, UC120DWA  1
 3 233194-8 COMPRESSION SPRING 4, 5620DWA  1
 4 858719-3 NAME PLATE, UC120D  1
 5 265995-6 TAPPING SCREW 4X18, 4323K  2
 6 416312-5 FRONT HAND GUARD, UC120DWA  1
 7 182947-1 HOUSING SET, UC120D  1
 7 188201-1 N/A  1
 8   416840-0   SWITCH LEVER, AS1212LG  1
 9 643909-9 BATTERY HOLDER, DA392D  1
 9 643918-8 BATTERY HOLDER, 6391DWPLE  1
 9 643918-8 BATTERY HOLDER, 6391DWPLE  1
 10   192598-2   BATTERY 1222, 12VDC 2.0AH,6213DWAE  1
 10 193157-5 BATTERY 1234 12V NIMH,6217DWDE  1
 11 629715-6 DC MOTOR, UC120DWA  1
 12 911113-1 P.H. SCREW M4X10, 4301BV  2
 13 253811-4 F. WASHER 5, 5012B, 6891D  1
 14 226131-9 GEAR COMPLETE 9-46, UC120DWA  1
 15 651942-7 SWITCH, UC120DWA  1
 16 182947-1 HOUSING SET, UC120D  1
 16 188201-1 N/A  1
 17   322954-4   SPINDLE, UC120DWA  1
 18 267729-3 LOCK WASHER 12, UC120DWA  1
 19 221504-1 SPROCKET, UC120DWA  1
 20 267729-3 LOCK WASHER 12, UC120DWA  1
 21 961052-5 RETAINING RING S-12, 9218PBL  1
 22 232170-9 LEAF SPRING, UC120DWA  1
 23 911148-2 P.H. SCREW M4X25, 5057KB  3
 24 819063-3 MAKITA LABEL, DA3010F  1
 25 416306-0 SPROCKET COVER, UC120DWA  1
 26 922321-9 H.S.H. BOLT M6X16, HM1301 T1  1
 27 267173-4 FLAT WASHER 6, UC120DWA  1
 28 158045-3 GUIDE BAR COMPLETE, UC120DWA  1
 28 158476-6 N/A  1
 29   791284-8   CHAIN BLADE, UC120DWA  1
 30 211031-6 BALL BEARING 608LLB, 9227C  1
 31 253215-0 F. WASHER 8, PV7001C  1
 32 226478-1 HELICAL GEAR 44, UC120DWA  1
 33 159982-4 GEAR HOUSING COMPLETE, UC120DWA  1
 34 265995-6 TAPPING SCREW 4X18, 4323K  3
 35 252157-5 SQUARE NUT M6, AS1212LG  1
 1,001 182229-1 OIL SUPPLY 100CC, UC120DWA  1
 1,002 414938-7 BATTERY COVER, 6222DWE  1
 1,003 416311-7 GUIDE BAR CASE, UC120DWA  1
 1,004 744003-1 FILE, 5012B  1
 1,005 783203-8 HEX WRENCH 5, 2708  1
 1,006 824491-9 PLASTIC CARRYING CASE, UC120DWA  1

Page 2 of 2 8/18/2010


